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Final Exam, Math 1020, Spring 2005

1. Given the polynomial 
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A. Graph the polynomial on the window x = -3 to x = 3 and y = -1 to y = 1.  Sketch the graph.

B. Find the zeros of the polynomial, and state with two decimal places accuracy.

C. Find the extreme values (maxima and minima) of the polynomial and state with two decimal places accuracy.

D. State the maximum number of turning points a 5th-degree polynomial may have (the given polynomial may not have the maximum number).

2. Simplify 
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3. Given the function 
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, find the amplitude, period and the phase shift.
4. Prove the identity.  
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5. Solve for x.   
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6. Find the six trigonometric function values for the angle θ indicated in the triangle below.
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7. Calculate the value of 
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 and then plot the point on the complex plane (hint: write in the form a + bi).
8. Find the angle between the two vectors <4, 3> and <-1, 7>.
9. Find the values of x and y which satisfy the system 
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 by any method.  State your answer to two decimal places accuracy.
10. Solve the system for x and y.  
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11. Write the following series using summation notation: 
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12. Write out the expansion of 
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 using the binomial theorem.
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